Wedges

Simple machines used to raise heavy loads
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Let's look at the following:

Want the minimum value of P required to move block A.
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FBD of A

Why is 
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 Motion of the block must be started.
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FBD of C

Knowns: W

Unknowns: P,
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Equations: 4
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Wedge C

Examples  
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Given: A 
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 wedge is to be forced under a 1400 lb. machine base at A, and 
[image: image6.wmf]2

.

0

=

S

N

 at all 


surfaces.


Find: Determine the force P required to move the wedge
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FBD Machine
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Assume machine will not move
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Does our assumption hold?

Total  max. friction at A and B.
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 Thus, machine will not move.
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Given: The blocks shown below









Find: The force P for which the 200 pound block will be on the verge of sliding upward.
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- On the verge of sliding  => all friction forces are at maximums
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Solving 4 equations for 4 unknowns:
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